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BCTYII

I1i MeTromnuHi BKa3iBKM MO0 BUKOHAHHS CAMOCTIHHOI pOOOTH 3 TpaMaTHKH 3
HaBYaJIbHOI AUCHUILUTIHU «[HO3eMHa MOBa» Il CTYACHTIB JIEHHOI Ta 3a04HOi (hopm
HaBUaHHA 31 cremanbHocTi 133 — «lamy3eBe MammHOOYIyBaHHS» OCBITHBO-
kBauti(ikariitHoro piBus «bakangaBpy.

Posmmpennss Ta SKiCHI 3MIHM MDKHApOJHMX 3B S3KIB  HAIlOl  JIepXKaBH,
IHTepHAIllOHAI3AIlisl YCIX aCMeKTIB CYCHUIBHOTO JKHUTTA pPOOJATH 1HO3EMHY MOBY
HEOOXITHOIO B HAYKOBIN 1 mpodeciiiHiii chepax MisTbHOCTI oanHu. BoHa € mieBum
YUHHUKOM COLIaJIbHO-€KOHOMIYHOTO, HAaYKOBO-TEXHIYHOTO Ta 3arajibHOKYJIbTYpHOTO
MPOrpecy CyCHiIbCTBA.

MeTtoauyHi BKa3iBKM MarOTh Ha MeETI JIOMMOMOITH OakajlaBpaM B ayJIUTOPHIN 1
CaMOCTIIHIA poOOTI 3 1HO3EMHOI MOBHM MiJ Yac BUKOHAHHSA NPAKTUYHUX 3aBAaHb.
BianoBigHo 10 TUMOBOI mMporpamMu 3 1HO3E€MHOT MOBH JIJISI HEMOBHUX 3aKJIaJliB BUIIO1
OCBITH, OaKanaBp MOBUHEH MPAKTUYHO OBOJIOAITH 1HO3EMHOIO MOBOIO, IO Tepeadayvae
(opMyBaHHS ByMiIHb CAMOCTIHOTO YMTAHHS HAyKOBO-TEXHIYHOI JITEPATYpH, @ TAKOXK
PO3BUTOK HABMYOK HAYKOBO-TIPOQeCciiHOT KOMYHIKallii B yCHI# 1 TUChMOBIN (popmax. 3a
BECh HABYAJIIbHMUI KypC HaBUaHHs OakajaBp CKJIAJa€ JiBa MOJIYJBHHX KOHTPOJI, 371a€
3aJIK Y4 1CIIUT (3aJI€KHO Bij CIIEI1aJIbHOCTI).

MertoauyHi BKa3iBKM MICTATh HEaJalTOBaHI HaBYallbHI TeKCTH. Martepian
YIOPSAKOBAHO Ha MIACTaBl HAaBYAJIbHUX TMOCIOHHMKIB 1 TEPIOAUYHUX BHIAHL 3
aHTJIINCHKOT MOBH.

VY pe3ynbTari BABYCHHS! HABYAIBHOI TUCIUTUIIHU CTYJICHT TOBUHEH

3HATHU: CIEIliajJbHy TEPMIHOJIOTII0O Ta MOBHI €JIEMEHTH HAyKOBO-TEXHIYHOIO
CTHJIIO T4 OCHOBH1 aCIEeKTH CIJIKYBaHHS;

YMITH: YHTATH OPUTIHAJIBHY TEXHIUHY JIITEpaTypy IS ojaepkaHHsS iHGOpMaIlii;
Opatv yyacTb B YCHOMY CHIJIKYBaHHI 1HO3€MHOIO MOBOIO B 00Cs31 MaTepiaiy,
nepeadaueHoro  MporpaMolo;  paIliOHAIbHO — KOPUCTYBATHUCS  CICIIalli30BaHUMHU
CJIOBHMKaMU; BiAOMpaTH Ta (IKCYyBaTH CYTTEBY 1HPOPMAILIIO, sIKa MICTUTHCSl Y HAYKOBO-

TEXHIYHUX MyOJTIKAITISX.



1 TEMHU TA HOTI'OJJUHHUM PO3KJIAJ CAMOCTIHHOI
POBOTH 3 HABUAJIBHOI JUCHOUILITHUA «IHO3EMHA MOBA»

No. Tema KinpkicTs roguu

nop nbH 3¢H
Present Simple np cam | mp | cam

1 I'pyma Indefinite 9 20 |20 | 30

2 I'pyma Continuous 9 20 |20 | 30

3 [TutanbHi Ta 3anepeyni peueHHs B Past 9 29 |10 | 30
Continuous

4 I'pymna Perfect. 8 20 |10 | 20

5 Participle. ITutanbHi Ta 3aniepevHi peUCHHS B 8 20 |10 | 30
Passive voice

6 Perfect Continuous. 8 10 |10 |12

7 Constructions: like/would like 9 10 | 2 12

8 Ycworo: 60 120 | 82 | 164




2 IEPEJIIK TEM I IUTAHB 3 HABYAJIBHOI JTUCIUIIJITHA
JIJIS1 CAMOCTIMHOI'O OITPALIFOBAHHS
1. Read the text. The red words are probably familiar to you in general English.
But can you think of a different meaning for each word in English for electrical

engineering? Change the form if necessary.

One evening, | was feeling hungry so | crossed the field next to my house and went to
a local restaurant. It’s on a busy junction, so there was a lot o f noise from the traffic.
There was also a band playing inside so it was impossible to talk. 1 waved to a friend
on the other side of the restaurant. The menu was written on a board above the bar,
and | ordered my favorite dish. The waiter came loaded with plates, and when he
reached my table they all fell to the ground and smashed!

When the bill came, he charged me less because he wanted to apologize.

2. Read these sentences from engineering texts. Complete each sentence with one
of the red words from Exercise 1. Change the form if necessary (e.g., change a
noun into a verb).

1 Light is transmitted in the form o fa

2 | can receive a lot more television channels now I've installed a

3 The electrical Is very weak.

4 This radio can receive a wide of frequencies.

5 The electrical components are positioned on the printed circuit

6 It is important that the wiring in a box is not loose.

7 The original transmitted signal is distorted by a lo t of

8 We need a connection to make this system safe.

9 The on this circuit is too high turn it off! 10 This electrode has a strong

negative

3. Look the words in the box and answer the questions.

electromagnet infrared kilo watt megawatt microwave overload thermoplastic

transmission ultrasonic unturned

1 What is the connection between all the words?
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2 What is the base word in each case?

3 What do we call the extra letters?

4 What is the meaning of each prefix?

5 Can you think of another word with each prefix?

4. Study these topic sentences from the text and answer the questions below.

= Electrical phenomena occupied European thinkers as early as the 17th century, but
the first notable developments in this field were made in the first half of the 19th
century.

= However, many people believe that Electrical Engineering can only be said to have
emerged as a discipline in the second half of the 19Ih century.

= As a result of the discoveries in electricity, there was a dramatic increase in work
in the area.

= The rivalry between AC and DC systems helped advance electrical engineering.

= The discovery of the Edison effect and electron theory laid the foundations of radio
engineering.

= In 1930, the term electronics was introduced to include radio and the industrial
applications of electron tubes.

» The Second World War saw tremendous advances in the field of electronics.

1 Were you right about who invented these things and when?

2 Where might you find the answer to each question in the university assignment?
Write 1, 2 or 3 next to the topic sentence.

3 What do you expect to find in the other paragraphs

5. IlepeOyayiiTe Mpomo3uilii BiIMOBIIHO 10 MOPSIIKOM CJIiB B AHIJIIHCbKiid MOBI.
1. Ii 3miHu (axiBIl MOSICHIOIOTH B JaHUM Yac A1€I0 CUJIBHOTO MarHiTHOTO IOJIS.

2. IIpobrmeMy BIUIMBY COHSYHOTO BHUIPOMIHIOBAHHS Ha O10JIOTIYHI TIPOLIECH
BHUBYAIOTh Oarato jabopatopiid. 3. BujauleHHs Teruia CympoBOJKY€E Oarato 3 Iux
nporieciB. 4. TeopeTHUHUM BiAAUIOM acTpodi3uuHOi Jlabopatopii kepye npodecop
Cwmir. 5. CTaTuCTUYHMI aHaJi3 HassBHUX (PaKTiB B MallOyTHHOMY JacThb SICHY KapTUHY

CTaHy HaIIol TalTy31 JOCIIIKEHHSI



6. CxiaiTh peyeHHsl, KEPYIUYNCh TA0JNIEI0 MOPSAKY CJIIB.

1 2 3 4

1. work, leading scientists, at this problem, now. 2. new, factories, construction, of,
will continue. 3. a, Russia, major, industry, auto-making, is, at present, in. 4. is, main,
the material, metal, the engineer, of. 5. a great number, the plant, engines, of,
produces.

7. 3aMiHiTH BHiJIeH]i cJ10Ba 3aliMeHHHKAMH

1. The school year runs from September till July. 2. For Oxford and Cambridge
school leavers have to take special exams. 3. The exercise is easy. Jane can do it
without your help. 4. Secondary schools are for pupils aged 14—16. 5. Jane's sister
went to school last year. 6. The children's parents are teachers. 7. All pages of this
book are torn. 8. Don’t look at the blackboard.

8. Translate into English

1. MeTta nondrana B TOMy, II00 CTBOPUTH Oarato cremiaiizoBaHUX 3aBOJiB. 2. Mu
MMOBMHHI 3aKIHYMTH BUNPOOYBAHHS Ha I[bOMY TI>KHI. 3.Buxij 3 nagy 1€l yCTaHOBKH
CTaB JIsl HAC HECMOIBaHKO0. 4. ['Hyuka aBTOMAaTH30BaHa JIiHis BIPOBAKYETHCSA Ha
i 1iTbHAIN. 5. OIUH 3 TIepITUX BUHAXITHUKIB aBTOMOO1IS 32 KOPAOHOM — beHir.

6. J[BUryH — 11e MaIInHa, sSiKa MEPETBOPIOE TEIIJIOBY €HEPTi0 HA MEXaHIYHY.

7. CTyneHTH crocTepiraroTh 3apa3 3a podororo EOM.

9. Read the text. The red words are probably familiar to you in general English.
But can you think of a different meaning for each word in business English?
Change the form if necessary (e.g., change a noun into a verb)

The man put on his coat and cap. He mounted his cycle and rode out of the housing
estate. He smiled at a couple of neighbors but he wasn’t happy. His fears were cold.
His arm hurt. His teeth hurt- in fact, his whole jaw ached.

10. Read these sentences from engineering texts. Complete each sentence with
one of the red words from Exercise 9. Change the form if necessary.

1 Allow each of paint to dry thoroughly before applying the next.

2 Always clean the of the saw after use.
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3 check that the of the machine are level.

4 the well immediately and check the pressure on the gauge.

5 the engine on the board using four large bolts.
6 Use the hand le to tighten the of the vice.

7 There are four in the operation of an internal combustion engine.

8 Do not raise the of the crane above 45 degrees.

9 the two sections together with the pin and secure.

10 Insert the control box in the metal

11. Look the words in the box and answer the questions.

centimeter international kilogram megabyte micrometer milliliter miscalculate

overheat redo semicircle subway supersonic transport undercoat undo

1 What is the connection between all the words?

2 What is the base word in each case?

3 What do we call the extra letters?

4 What is the meaning of each prefix?

5 Can you think of another word with each prefix?

12. Study these topic sentences from the text and answer the questions below.

= Before engineers learnt how to cool air. life was very different.

= The inventor of refrigeration was Jacob Perkins.

= |n 1834, Perkins obtained a patent for a vapor compression system of cooling.

= Perkins often does not get the credit for his important invention, because he did not
develop it.

= The work of Perkins and Harrison did not directly lead to the cooling of rooms.

= After cooling machines, Carrier moved on to rooms.

= In 1922, Carrier built his first true air-conditioning machine.

= Mechanisms for cooling air have had a profound effect on human life all over the
world.

1 Which achievement is the text about?

2 Where do you expect to find the answer to each question in the Hanford University

assignment? Write 1, 2 or 3 next to the topic sentence.
9




3 What do you expect to find in the other paragraphs?

13 Po3kpuiiTe 1yKKH, IOCTABUBIIH Ai€CJI0BO B NOTPiOHY dopmy.

1. Prof. Smirnov (togive) a lecture on physics next week. He (to supply) the
fundamental calculations for designing engines. 2. The Government (to establish) the
Automobile Research Institute in 1920. But the scientists (to start) auto-m aking
research in 1918. 3. We (not to take) that examination yesterday. We (to have) it in 2
weeks. 4. My father (not to work) in the field of mechanical engineering, he (to
design) boats. 5. E.A. Chudakov (to develop) the automobile theory? — Yes, he did.
Besides, he (to provide) the basic formulas of auto-designing. 6. Nick (to know)
mathematics well? — Yes, he does. He (to like) it and (to do) research in this field. 7.
You (to work) in the chemistry laboratory a week ago? — No, we didn’t. We (to
work) there only the day after tomorrow. 8. This programme (to include) many
problems. At present we (to study) different aspects of bridge construction, testing
and operation.

14. JIonoBHITH pevyeHHs1, BUOPABIIHN BiINOBiHE 3aKiHYEHHSI.

1. All children in Britain must receive a) no fees

2. Schools in Britain are .. b) fee-paying.

3. State schools charge ... c) of two types.

4. Independent schools are ... d) full-time education.

5. Most state schools are ... e)the same school-leaving examinations.
6. There are also ... f) comprehensive schools.

7. All schools share ... g) modem schools, grammar schools and
8. To get into the University school | technical schools.

leavers take ... h) A-level exams.

15. a) 3uaiiaiTe B TekcTi AiecaoBo t0 have i BU3HauTe, y IKOMY 3 epepaxoBaHUX
BHIIE 3HAYEHDb HOT0 BKHUTO.

0) Buznaure ¢pynkuiro giecaiosa to have.

1. In walking machine designs, the designers have tried to reproduce the trajectory of

man’s foot. They have proposed a number of patterns for effecting such trajectories.
10




Some of them have simply resorted to a rectilinear pattern, while others have selected
the optimum trajectory.

2. Specialists in engineering materials have taken a new approach to the problem of
the permanent nature of materials properties. It is no less useful to have materials
whose properties can be changed and controlled.

That’s why specialists have to create materials with variable porosity, elasticity and
thermal conductivity.

16. Translate into Ukrainian

1. The higher technical school in Kursk has a daytime and an evening departments. 2.
The school has three faculties. 3. We have many laboratories at the Institute. 4. Our
country has many branches of industry. 5. This country will have a great number of
specialists in this field.

17. Ckaaaire pedenHss 3 oOoporom there is / there are, kopucryr4uch
HACTYIIHUMHU CJIOBaAMMU.

1. twenty-three, universities, in 1960, were there, British. 2. 90 universities, are, in,
there, the United Kingdom. 3. Scotland, are, in, universities, eight, there. 4. Northern
Ireland, two, there, universities, are. 5. system, education, the, is, United States, there,
no, national, of, in. 6. nineteen, in, there, universities, are, Canada. 7. are, private,
there, 4, Canada, in, universities.

18. CxianiTh peyeHHs 32 3pa3KoM

Model: Steel is expensive.

Silver is more expensive.

Gold is the most expensive.

1. Tpu peUOBMHM 3 TOYKH 30py iX 3HAYCHHsS B NMPOMHUCIIOBOCTI: water, coal, gas
(important). 2. Tpu Metany 3 TOYkd 30py ix TBepmocTi: steel, copper, aluminium
(hard). 3. Tpu mapku aBTOMOOULTIB 3 TOukHM 30py ix Barm: MAZ, Zaporozhets,
Moskvitch (light). 4. Tpu BuIu TpaHCHIOPTY 3 TOYKHM 30py IIBHIKOCTI: a car, a train, a

plane (fast)
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19. BkaxiTh, B AKMX CJI0BAaX -€r - cy(ikc cTyneHs NOPiBHHHS NMPUKMETHUKIB

teacher, summer, driver, other, darker, easier, never, writer, weather, bigger, deliver,

faster, under

20. JlonoBHITH peuyeHHs, BUOPABIIM BiNOBi/IHe 3aKiHYEHHSA

1. In 1960 there were...

2. Today there are...

3. At present there are...

4. Oxford and Cambridge were...

5. Four universities were founded ..

6. The Redbrick Universities were
founded...

7. The new universities appeared ... 8. In
1992 the majority of polytechnics were

incorporated.

a) the only universities until the 19th
century.

b) in Scotland in the 15th and 16th
centuries.

C) ninety universities.

d) four different types of universities.

e) only twenty-three British universities.
f) after the Second World War.

g) into universities. h) between 1850 and
1930

21. IlpounTaiiTe HACTYNHIi peyeHsl Ta

caoBamu that, those, one

3aMiHiThb, J€ Ile MOXKJIMBO, IMEHHHUKH

1. One group of courses serves the Industrial Engineering stream and the other group

serves the Engineering Science stream. 2. Students of the Industrial Engineering

stream are interested in the design and production engineering and students of the

Engineering Science stream study the theoretical techniques. 3. The courses of study

are supported by laboratory exercises and drawing office exercises. 4. During the

summer vacation students are engaged in practical work with engineering firms.

22. JIonoBHITH peyeHHs], BAOPABIIM BilOBiIHE 3aKiHYeHHS

1. The School of Manufacturing and
Mechanical Engineering is...

2. The courses given include...

3. After the first year...

4. They are...

a) by different groups of courses.
b) the Industrial Engineering stream and
the Engineering Science stream.

c) practical work with engineering firms.

d) one of the five Schools of Engineering
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5. Both streams are served...
6. The Engineering Science stream
course is intended for students...

7. Students who are interested in design

at the University.

e) laboratory and drawing office
exercises.

f) students are divided into two streams.

and production... g) study the Industrial Engineering
8. The courses of study are supported | stream course.
by... h) mechanical engineering sciences,

9. During summer vacations students are | economics and business studies.

engaged in... 1) who wish to study the theoretical

techniques.

23. Translate into Ukrainian

1. Preparatory schools are so named because they prepare pupils for entrance to
public schools. 2. Boys and girls are taught together in most British primary schools.
3. A lot of different courses are provided in British colleges of further education,
which are for people over 16. 4. These courses are run by almost 500 further
education colleges, many of which also provide higher education courses. 5. Teachers
are trained at the Teachers’ Training College. 6. Some additional information on
American system of education will be reported in the newspaper tonight. 7. Modern
methods of teaching are hotly debated now. 8. Cambridge is situated at a distance of
seventy miles from London. 9. Every college is headed by the Dean.

24. CkaaliTh pevyeHHs 32 3pa3KoM

Model: Many examples illustrate this rule.

This rule is illustrated by many examples.

1. Two laboratories will study this problem. 2. Several examples illustrated this idea.
3. The Academy of Sciences organized the conference. 4. Each faculty controls the
various subjects of study at. this college. 5. The Cambridge University trains about
7,000 students in different specialties.

25. BibmiicTh pedyeHb TeKCTy modyaoBaHo 3a moaetio: N + is/ arm made of N,

ne nepuie N - rexniuynuii 00'ekT, a npyre N - Ha3Ba MmaTepiaJy.
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Materials a Car is Made of
A car is made of different materials. The windscreen, for example, is made of glass.

The headlights are also made of glass. The tyres are made of rubber. They are filled
with air. The air in the tyres is compressed (to approximately 1.5 gm/cm3). The body
Is made of metal. The metal is painted. The steering wheel is made of plastic. The
mirrors are made of plastic and glass. This car has two mirrors. The rear-view mirror
Is fixed to the roof. The wing mirror is fixed to the door. The engine is made of
different metals. The pistons are made of aluminum and the valves are made of steel.
The springs are also made of steel.

26. JIonoBHITH peueHHs, BUOPABIIU BiINOBiIHe 3aKiHYeHHS

1. Hero of Alexandria lived...
2. His inventions were...

3. Hero described and listed...
4. He described...

5. The main function of Hero’s invention

a) the siphon, the gearwheel, the pump,
the water clock, the steam engine.

b) about 150 B.C.

C) to entertain.

d) how the heavy weight may be lifted

was.. and moved with minimum effort.

e) five basic principles of the machinery.

27 Translate into Ukrainian

1. This lecturer is always listened to with great interest. 2. Your friend is very well
spoken of. 3. This new equipment can be relied upon. 4. | recommend you to read the
article referred to by our professor. 5. When was the doctor sent for? 6. Prof. Smith’s
lecture was attended by a lot of students yesterday. 7. In this book no mention is
made of the British polytechnics. 8. Care must be taken in using new computer
programs.

28. Po3kpmiiTe 1y:KKH, IOCTABUBIIN JIi€CJI0Ba B MaCUBHY (popmy.

1. This student can (to rely on). 2. This equipment must (to take good care of). 3. The
new model of Volvo always (to look at) with great interest. 4. Professor Semenov’s

invention often (to refer to). 5. The programme of this subject much (to work at). 6.

14




The whole reference book (to look through), but we couldn’t find any answer to the
question. 7. Plastics (not to affect) by water. 8. The conditions (to agree upon)
yesterday. 9. The lecture (to follow) by a seminar.

29. Po3kpuiiTe Ay:KKHM i mocTaBTe i€cJI0BO B NOTPioOHY hopmy

1. I know she (to prepare) for a difficult experiment now. 2. What you (to do) when |
came in? — 1 (to read) an article on the British educational system. 3. 1 thought you
(to do) this work yesterday. — Yes, and I still (to do) it. 4. Tomorrow at 6 o clock I
(to report) the results of this analysis. 5. Our laboratory will be provided with new
equipment. These two engineers (to mount) a new electronic system.

30. lonoBHITH peuyeHHsl, BUOPaBIIM BiANOBiHE 3aKiHUYEeHHS

1. The engineer typifies... a) the products’ performances.

2. He makes a great contribution... b) deals with the automation of
3. His main functions are... production processes.

4. The engineer also analyzes... c) the 20th century.

5. So he can work in... d) the analytical frame of mind and
6. At present the engineer... Imagination.

7. The work of the engineer requires. e) to progress.

f) designing, developing and testing the
products.

g) the designing office, in the lab and in

the production field of engineering.

31. Read and translatethe text.
THE ENGINEERING PROFESSION
Engineering is one of the most ancient occupations in history. Without the skills
included in the broad field of engineering, our present-day civilization never could
have evolved. The first toolmakers who chipped arrows and spears from rock were
the forerunners of modem mechanical engineers. The craftsmen who discovered
metals in the earth and found ways to refine and use them were the ancestors of

mining and metallurgical engineers. And the skilled technicians who devised
15




irrigation systems and erected the marvellous buildings of the ancient world were the
civil engineers of their time.

Engineering is often defined as making practical application o f theoretical
sciences such as physics and mathematics. Many of the early branches of engineering
were based not on science but on empirical information that depended on observation
and experience.

The great engineering works of ancient times were constructed and operated
largely by means of slave labor. During the Middle Ages people began to seek
devices and methods of work that were more efficient and humane. Wind, water, and
animals were used to provide energy for some of these new devices. This led to the
Industrial Revolution that began in the eighteenth century. First steam engines and
then other kinds of machines took over more and more of the work that had
previously been done by human beings or by animals. James Watt, one of the key
figures in the early development of steam engines, devised the concept of horsepower
to make his customers understand the amount of work his machines could perform.

Since the nineteenth century both scientific research and practical application of
its results have escalated. The mechanical engineer now has the mathematical ability
to calculate the mechanical advantage that results from the complex interaction of
many different mechanisms. He or she also has new and stronger materials to work
with and enormous new sources of power. The Industrial Revolution began by
putting water and steam to work; since then machines using electricity, gasoline, and
other energy sources have become so widespread that they now do a very large
proportion of the work of the world
32. Translate into Ukrainian
1. The ZIL Works has already manufactured a new truck model with an engine that is
protected against cold. 2. Every object of our industrialized world has practically
flown from the machine. 3. The construction of the KAMAZ complex within such a
short period has become possible only by using the latest achievements of science
and technology. 4. Graduation theses of these students were based on material they

had accumulated while working at the Student Design Bureau. 5. Finally, when the
16



planning engineer had ordered the material, the tool engineer had designed the tools
and the design engineer had given the specification on the drawings, production
began. 6. The chemical engineer will have completed the experiments by the 21st of
June. 7. Michael Faraday gathered together and set in order all the work of the
scientists who had worked on electrical problems before him.

33. Po3kpuiiTe Ay:KKH i IOCTaBTe Ai€CJI0BO B NOTPiOHY dopmy.

1. He (to like) physics and mathematics when he (to be) at school. 2. Let’s try to
answer questions which you (not to ask) yet. 3. Several famous scientists (to make)
reports at the conference yesterday. 4. | already (to see) this device at the exhibition.

5. When you (to discuss) this problem with our chief engineer? — We (to discuss) it

a few days ago. 6. Radical changes (to take place) in this country since then.

34. IonoBHITH pe4YeHHs], BUOPABLIN BIANOBiIHE 3aKIHYCHHS

1. Engineering is ...

2. Itis based on ...

3. In ancient times engineering work was
done...

4. In the Middle Ages the methods and
devices of work...

5. In the 18th century...

6. Steam gave man...

7. Since the 19th century both scientific
research and its practical application...

8. In the 20th century the mechanical
engineer had...

9. The engineer has new and.

a) many new sources of power such as
electricity, gasoline, atomic power, etc.

b) the Industrial Revolution began.

c) one of the most ancient occupations in
history.

d) and much stronger materials to work
with.

e) by means of slave labor.

f) became more efficient.

g) theoretical sciences such as physics
and mathematics.

h) great sources o f energy.

1) have greatly progressed.

35. JIOoNnoBHITH peyeHHsl, BUOPaBIIM BiANOBiIHE 3aKiHUEHHS

1. At present there are...
2. It is very difficult...

a) more scientific and specialized.
b) the special services of specialists from
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3. The main divisions of engineering
are...

4. So, engineers must become...

5. In designing even a simple machine...
6. Thus, any branch of engineering may

require...

various branches.

¢) numerous branches of engineering.
d) complicated and  specialized
calculations are needed.

e) to give a satisfactory classification of

these branches.

f) mechanical engineering, electrical

engineering, civil engineering, structural

engineering and chemical engineering.

36. Po3kpuiiTe 1y»KKH i HOCTABTE Ai€CJI0BO B OTPiOHY (popmy

1. The question about the new laboratory (to discuss) at a special meeting yesterday
at 6 p.m. 2. Different types of cars and lorries (to produce) in our country now. 3.
This plant (to achieve) great results in producing fuel equipment years ago. 4. Many
new service centres (to build) in our country now. 5. The work still (tofinish)> 6. My
friend (to work) at a new design of this forging when | came to his laboratory a week
ago. 7. Different body fixtures (to test) in this laboratory. 8. This matter (to speak
about) now. 9. What you (to do) when | came in? — | (to read) an article on internal
combustion engines. 10. The scale of producing a new car (to increase) with every
passing year.

37. IlindepiTh HeoOXiaHi (hopMu IS peveHb.

1. Some progress is being made in machine-building, (atpresent, last year, regularly)
2. When | came to their plant a new model of the sporting car was being tested,
(tomorrow, still, soon, now, at present) 3. The greatest importance is given to the
further development of gas equipment. (yesterday, not long ago, now, today, at that
time) 4. The process of the technical re-equipment of transport is going on. (soon,
continuously, the day before yesterday, at that time) 5. The automobile industry is
making progress in all types of transport, (tomorrow, next month, a year ago, soon,
nowadays) 6. It is expected that cars with less toxic exhaust gases will be widely

used, (now, last year, at present, in future, tomorrow, not long ago).
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38. Translate into Ukrainian

1. Although machine-building has been a branch of human activity for centuries, only
in the 20th century have machines begun to assume such an all-important role. 2. The
engineer had visited many plants and designing offices, he had personally examined a
great deal of different types of machines and had done a lot of work on his thesis,
before performing a large number of experiments. 3. I’d like to know whether the
series of experiments | have already performed and the data which | have obtained
are enough. 4. These remarkable technological achievements have become possible
by specially designed mechanisms and machines. 5. Man has obtained ultrahigh and
ultralow temperatures, ultrahigh vacuums, superhigh pressures, ultrahigh strength,
superelastic and superconducting materials and has been able to study the interaction
of superhigh-energy particles

39. Translate into Ukrainian

1. All means of production have been recently modernized in this field. 2. Sixteen
specialized plants including the first section of a plant in Cheboksary for the
manufacture of heavy-duty tractors for melioration and construction work had been
put into operation by the end of 1975. 3. The development in all fields of science and
technology has always been marked by a desire to advance man’s potentialities in all
directions. 4. Of late great attention has been paid to have materials whose properties
can be changed and controlled. 5. Every tool, machine and material used by the
engineer to accomplish his purpose stems directly from machine- tools or has been
evolved from machines which themselves were produced by machine-tools. 6. All
these components have been developed into a complicated mechanism, detailed
drawings have been made of all component parts.

40. Fill in the gaps in the sentences, using the words in the box in the Present

Simple or the Present Continuous. There is an example at the beginning (0).

want learn watch prefer smell dislike have a bath leave pack think read have
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It’s evening now. I am learning (0) my English. Mum (1), and Dad

(2) some football on TV. I (3) football, | 4)

films. My little brother Dick (5) the flowers. | (6), they

(7) good, because he is very pleased. My sister (8) her

things as she (9) tonight. She (10) to catch the 10 o’clock

train. | (11) my Grammar Book and | still (12) a lot of
things to do.

41. Work in pairs. Choose the correct verb form in the following sentences.

1. According to the scientists, the global climate is changing/changes. 2. She is
always complaining/complains, I just can’t stand it. 3. They are weighing/weigh their
baggage now. 4. The suitcase is weighing/weighs 30 pounds. 5. They think/are
thinking about going to England. 6. Prices rise/are rising day by day. 7. This dish
tastes/is tasting delicious. 8. She tastes/is tasting the soup to see if it is ready. 9. He is
always being late/late, nobody can stand it any more. 10. The scarf feels/ is feeling
like silk. 11. The doctor feels/is feeling the patient’s pulse. 12. Oh yes, I
remember/am remembering now. We met him at the last conference, didn’t we? 13. 1
need/am needing to do something to change the situation. 14. The world’s population
Is constantly growing/grows

42.Translate into English

1. SIxOum Hamm OyxranTep He MOMUJIMBCS BUOPA, TO 3aKIHUUB OU PO3PaXyHKHU ChOTOJTHI.
2. SlkOm BiH 3aTenedoHyBaB yuyopa, BoHa 0 3apa3 He TypOyBanacs. 3. SlkOu Buopa OyB
BHUXIIHMI JICHb, BOHa O He Oyja Takow BTOMJICHOIO ChorojaHi. 4. Slkbm BuUOpa
MIPOMIIIOB JIOI, 3apa3 He Tpeba Oyno O moauBaTH ropoi. 5. SIkOW BiH MOBTOpPUB
JIOMAIITHE 3aBJaHHS TIepe]] 3aHSATTAM, TO TErep He 4YeKaB Ou miaka3ku. 6. SIkOu BiH
paHille MmioB cnaT, y Hboro 0 He Ooiyia 3apa3 rososa. 7. SlkOu BiH HE MOYYB PO
1Ie TI0 Pajio y4opa, TO CbOr'OJIHI MPOYUTaB O Mpo 1€ B razeri. 8. JkOU 3aMOK He
371aMaBcsi, BOHM O Tenep nuiv 4ail. 9. SlkOu BoHa mpwiiiuia ydyopa, Mu MOriim 6 yci
pa3zoM moixaTu 3a micto choroAni. 10. SIkOu T mociayxaB Mo TMopanxy, MeHl O He
noTpiOHO Oyi0 3apa3 BUKIUKATU citocaps. 11. SIkOu BiH yyopa HaJsTHYB IUIalIa, y

HbOTO O Terep He Ooiniyio Topyo. 12. SIkOu BoHA 3akiHUMIIA TIEpeKyIaa y4dopa, i Ou
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3apa3 J03BOHIIM Tporyistucs. 13. SlkOm BoHa Mana CyMHIB IIOJO HOTO YECHOCTI,
BOHa 0 Terep po3MoBIIsiIa 3 HUM iHakie. 14. Skou iX mo3naiioMuiy pasiiie, iMm 0ysio
0 jermie 3apa3 3HANTH CHiIBHY MOBY. 15. SlkOu 1 mO3UYMIM ydopa TPOXH TPOIIEH,
BOHa O CbOT'OJIHI 1X y>ke moBepHyJa. 16. Konu 6 BoHUM 3’13111 BIITKY Ha MiBJICHB, TO
HE TOBOpUJIK O Mpo 11e Tak yacTo Temep. 17. SIkOm BoHA MOSCHUIIA BCE BUOpa, BiH OU
HE PO3MUTYBaB Mpo Iie 3apa3. 18. SIkOm imM Bmamocst AiCTaTd KBUTKH BYOpa, BOHU O
Terep HLKWIKCSA Ha COHEuky. 19. SIkOu HoMy B NUTHHCTBI YWTald Kas3Kd, BiH OH
3apa3 BipuB y auBa. 20. SIkOw BiH HEe 3/1aMaB HOTY, BOHH O CHOTOJHI MU Ha
nporyisHky. 21. SlkOu BOHM Hamucaau JUKTAHT Y4opa, CbOTOJHI BOHa O HOro
nepesipsiia.

43. Fill in the gaps in the following sentences with the verbs from the box. You

may have to change the form of the word

. try get look repeat rent help be shut follow do

1. He is afraid it himself. 2. She is ashamed of the hat on. 3.
He is proud of a bookworm. 4. He is tired of it again and
again. 5. He is accustomed to her advice. 6. He is sorry about

at them like this. 7. She complained about the door with a bang. 8. She
succeeded in there in time. 9. He objected to anybody during
the test. 10. She was excited about a flat in the fashionable district.

44, Translate into English

1. Tit ne momo6aeThes 3amizHIOBaTHCA. 2. BiH He BTpaTHTh HAaroy HOTYJIATH.

3. Kamxkky ckopo BUAPYKYIOTh. 4. [IpreMHO MOIOPOKYBaTH y TapHii KOMIIaHI].

5. Bona npukupanacs, mo yutae. 6. Bin panuii, mo Moxke nonomMortu. 7. BoHu
X0uyTh, a0 iM 3arenedonyBann. 8. Bonn MaroTh Hamip moixatu. 9. S He muaHyBaB
BUTPATUTH CTUbKH Tporreid. 10. HemoxxnmuBo mpairoBatul y cnieky. 11. Bin He 3moxe
nepekiactTu crarroo. 12. Xrto 3mycuB Horo 3aroBoputu? 13. He no3Bossiite
KoMaHayBatu coboro. 14. Bona mnpocuna npucinyxatucs. 15. Bin mopanuB He

nounHatu. 16. Bin OyB 3n1uBoBaHuii 3ycTpity ii TyT. 17. BiH HaBUMB ii criBaTH.
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18. Bona He 3Hama, sk pearyBatd. 19. Bonu He Oosumucs 3amizHutucsa. 20. Bin
HaMaraTuMeThcss He 3a6yTu Hiuoro. 21. Byno 6 rapHo moixatu 3a Micto. 22. Im
nmoo0aeThes TiaBaT. 23. BoHu cnocTepiraiy, sik 37eTiB JiTak. 24. BoHa He 3Hae, 5K
CKazaTu oMy mpo 1e. 25. Bin po3ymie, 110 10 IIbOTO BaKKO MPUCTOCYBATHUCS.
26. Ckinbka MOTPiOHO Yacy, Mmoo 3podutu 1e?
45 Work in pairs. Report the statements below to your partner. There is an
example (0) at the beginning. 0. He asked, “Where is my book?”

He asked where his book was.

1. He asked, «Where have you bought your bag?»

2. She asked, “When does the film start?»

3. They asked, «What are you doing here»

4. She asked, «What book are you reading? »

5. He asked, «<How long have you been learning English? »

6. She asked, «Why didn’t you call me yesterday?»

7. He asked, «Where are you going in summer?»

8. They asked, «Who made it?»

9. We asked, «What is it made of?»

10. He asked, «How long did it take to get there?»
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TECTHU

TEST 1
1 Bubepith noTpioHy popMy 10NMOMIizKHOIO Ti€c0Ba
a) This plant... built only five years ago. (will be, is, were, was) b) This country...
different automobile makes in ten years, (produces, will produce, producing,
produce) c) ... he study engineering? (is, does, do, was)
2. 3akiHYiTh peYeHHs
1) We have... a) in our country many engineers at present. b) in our country at present
many engineers. ¢) many engineers in our country at present. d) at present in our
country many engineers. 2) Students visited ... a) at the plant all the laboratories
yesterday. b) all the laboratories at the plant yesterday. c) yesterday at the plant all the
laboratories. d) all the laboratories yesterday at the plant.
3. 3a3HauTe aHIJIilicbKi peyeHHsl, eKBiBaJeHTHI MM YKPATHCHKUM pPeYeHHSIM.
1) V Hamnii kpaini Oarato TexHiuHHMX By3iB. &) This country will have many
engineering universities. b) There were many engineering universities in this country.
c) There are many engineering universities in this country. d) Many engineering
universities are in this country. 2) B atom 31aHMM €CTh KOMITBIOTEPHBIN IEHTP? @) IS
the computer center in this building? b) Is there a computer center in this building? c)
Was the computer center in this building? d) Where is the computer center?
4. BuOepithb BiinoBigny popmy 3aiiMmeHHUKA
1) Whose book is this? — It’s ... book. I’ve bought it yesterday. a) mine b) my ¢) me
d) I 2) This is very interesting news. | heard ... from my friend. a) them b) it c) her d)
its
5. BuzHauTe 3HaYeHHs Ji€caiB. a) Y IKOMY 3 pe4deHb aie€caoBo to have BxuTO B
CBOEMY OCHOBHOMY 3HAYEHHI «MaTH»
a) State schools have larger classes than private schools. b) They have to pay for their
education. c¢) They have studied this subject and are prepared for their exam.

0) Y sikoMy 3 peueHb AI€CI0BO t0 0€e BKMTO B 3HAYEHHI «€»
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a) He is a school leaver. b) He is to leave school this year. ¢) He is leaving school this
year. d) He is at the college now.

6. SIki 3 MPUKMETHUKIB YTBOPIOIOTH CTYINeEHi NMOPiBHSIHHS 32 /I0NOMOI0I0 CJiB
more i most?

short, specific, speedy, powerful, efficient, great, practical

/. Ilin0epiTh HAMBUIIUIA CTYIIIHb NOPIBHAHHS ISl TAKUX NPUKMETHHUKIB

a) more (many, much, most) b) good (most, best, worst) ¢) much (least, less, most) d)
little (worst, least, furthest)

8. 3amoBHITh NPONMYCKHU, B:KUBIIM NOTPiOHY ¢opMy CTyneHsl TOPiBHSIHHSA
NPUKMETHHUKIB

1. The Likhachev Motor Works is ... than the Volzhsky Motor Works. (older, old,
oldest) 2. The report on new fuel equipment was ... of all. (interesting, more
interesting, the most interesting) 3. Archaeologists found ... wheeled carriage in the
world in Mesopotamia — it was 5,500 years old. (old, older, the oldest) 4. Transport
is one of... branches in the general system of the world economy, (large, larger, the
largest) 5. Research shows that gas systems are... to install than electric ones.
(expensive, more expensive, the most expensive)

9. SIke ¢JI0BO MOKHA BJKHTH 3aMiCTh BH/IIJIEHOT0 AaHIJIIHCHKOI0 CJI0Ba?

1. This method is more efficient than the method of engineer Petrov. (that, those, one,
ones) 2. These machines are more powerful than the machines operating in our shop,
(ones, those, that, one) 3. This method is highly efficient, but that method is even
better, (that, ones, one, those) 4. We received some new devices similar to the devices
installed in your laboratory, (one, ones, that, those)

10. IIpounTaiiTe TEKCTH i 3aMIOBHITH NPONYCKH, BUOPABIIM NOTPiOHUI BapiaHT.
a) The education in the ... (higher, grammar, secondary) school is the period
following the completion of secondary education. The duration of the study may be
from four to seven years or more, depending upon the nature and complexity of the ...
(tutorial, term, programme). The institution... (training, providing, devoting) higher
education maybe either college or university or a type of professional school. When

the basic ... (stream, subject, course) of study is completed, usually at the end of four
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years, the graduate receives a ... (master’s degree, doctor’s degree, bachelor’s
degree). He or she may continue the studies for a... (4-level exam, master’s degree,
grade). b) The mechanical engineering programme at this Polytechnic University ...
(offers, intends, lists) education which provides a high professional level for a wide
range of industries. During the first-year studies students study engineering
fundamentals. They continue ... (to attend, to fall into, to divide) lectures and
seminars on engineering theory in their second year and ... (are engaged, are
supported, are incorporated) in the related practice. The third and fourth years ... (fall

into, lead to, train) the graduation theses.
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TEST 2
1. Bubepith noTpioHy (popMy 10MOMIKHOIO Ji€CT0OBA
1. This plant... reconstructed only five years ago. (will be, is, does, was) 2. Our
country... produce many more automobiles in ten years, (does, is, will, shall) 3. These
new problems ... not much worked at now. (will be, are, do, were) 4. As a rule, cars
of this type... produced by European firms, (do, are, will be)
2. Y sikoMy 3 pedeHb J1i€c10B0 t0 be BUKOPHCTOBYETHCS /1JIsl IACUBHOIO CTAHY?
a) His task was to design the new gearwheel.
b) He was to design the new gearwheel.
¢) The new gearwheel was designed in this office last year.
3. YKaxiTh pedyeHHs, y IKOMY He Ha3BaHa 0c00a, AKa BUNHUJIA Jil0
a) This scientist invented a new pneumatic system in 1989. b) A new pneumatic
system was invented in 1989. ¢) Inventing a new pneumatic system he ran into a lot
of problems.
4. 3a3HauTe peyeHHsl, Y AKUX MOTPiOHO BKUTH MACUB MiJ Yac NepekJajay Ha
AHIJIHCHKY MOBY
a ) Binkputrts enekTpoHa Oyj0 IyKe BaKJIMBOI BiXxor B Hayil. b) Hoa momens
LOI'0 aBTOMOOLUISI OyJie BUITyLIEHA y HACTyMHOMY polli. C) baraTto pokiB iHXeHEepH
NPAIIOBAJIM HaJl CTBOPEHHSM 11h0oT0 amapary. d) Ha maTteHT nboro BHHaXiIHUKA AyXKe
YacTO MOCHJIAIOTHCS Y TeXHIUHiK JiTepaTypi. €) CKUIbKHA CTYJCHTIB HABYAETHCS Y
BaILIOMY 1HCTUTYTI?
5. HindepiTh moTpiOHMI aHTITiChKA eKBIBAJIEHT
1. Theory... always ... by practice. a) m ust... support b) m ust... be supported c) h as...
supported 2. Students of our institute ... in practical work during summer vacations.
a) engaged b) are engaged c) will engage 3. In the near future these types of cars ...
everywhere. a) will employ b) employ c) will be employed
6. 3a3HauTe NMTAHHS, BIANOBII/II0 Ha siIKe MOKe OYyTH Taka BiINOBiab
a) Yes, it will.

1. When will city traffic undergo changes? 2. Did city traffic undergo changes?
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3. What undergoes changes? 4. Will city traffic undergo changes? b) It was created
more than 80 years ago. 1. What was created in our country? 2. Where was
automobile industry created? 3. When will automobile industry be created? 4. When
was automobile industry created in our country?

7. 3HaliiTh peyeHHs, M/l Yac nepeKJaaay sikoro Tpeda B:KUTH Tieca10Bo dOeS

a) XTo mpairroe Ha miero mpodiaemoro? b) Lleit 3aBox Oyne BUpoOIsITH BABIY O1IbIIE
aBTOMOOLTIB uepe3 I’ aTh POokKiB. ¢) Konu 3a3Buyail mounHaeThCs JeKIis 3 Ximii? d)
[{s maGoparopist He 3aiiManacs KOHCTPYIOBAaHHSM HOBHX MOjeNei aBToOyCiB. €) Un
BUKOPUCTOBYETHCSI HOBUI THII IBUTYHA HA IIMX aBTOMOO1IIAX ?

8. 3HaliaiTh yKpaiHCbKe pedYeHHs, MiJ 4Yac MepekJaay SIKOro Tpeda BKUTH
aiecsioBo do

a) XTo po3pobuB 10 emOiemy? b) BUpoOHHMIITBO NBHUTYHIB Ha IIbOMY 3aBOJIl B
MUHYJIOTO POKY 3HauyHO 30uibmimiiock.c) Komm Bu 3a3Buyail mpauioere B
nabopatopii? d) Xto BiguyBae ueit 1BuryH? €) Jle BiguyBaroTh Uei ABUTYH?

9. BixzHauTte npaBUJIbHI MMTAHHA

We will graduate from the university in five years. a) What institute did you graduate
from? b) When will you graduate from the university? c) Will you graduate from the
university in five years?

10. 3akin4iTh peyeHHs, 1100 OTPUMATH PO34IeHOBAHI MUTAHHS

1. She knows you,...?

a) is she

b) isn’t she

c) doesn’t she

2. He couldn’t go th ere,...?

a) can he

b) could he

c) couldn’t he

3. He’s right,...?

a) isn’t he

b) doesn’t he
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c)is he

11. 3anoBHITH NPONYCKM B TEKCTi, BUOPABIIU MOTPiOHMIA BapiaHT

1. The invention of the railroads began with the invention of the steam engine, the
idea of which ... {applied, originated, listed) many years earlier. James Watt’s
improvement on the Newcomen’s ... {production, lever, engine) allowed the steam
engine not only to go up and down, but to turn ... {gearwheels, disk brakes,
pistons).In 1781 Watt... {based, designed, listed) and produced a rotary-motion steam
engine. This new engine could be ... {applied, described, operated) to many different
types of... {principles, machinery, laws).In 1804 Richard Trevithick, an English
engineer,... {invented, called, influenced) a steam locomotive, and his invention
brought together the idea of iron rails and the steam engine. 2. In 1882 Edison
installed the first durable electric ... {lights, steam, gas) in his own labs, and later built
the first public power station. However, Edison’s DC... {electrolysis, current, engine)

system had only a three-mile range.
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TEST 3
1. Busnaure, y KoMy BHIIQAKY jaiecaoBo t0 have € momoMizkHuM J1JIst yTBOpEeHHS
¢opmu Perfect
a) 1. We have many laboratory tests this year. 2. We have made many laboratory tests
this year. 3. We have to make many laboratory tests this year.
b) 1. Old automobiles had no amenities fordrivers. 2. He had already finished his
experiment when we came. 3. He had to repeat his experiment once more last week.
2. BuzHaure, y IKOMY BUIIAJAKY HAETHCHA MPO 3aKIHYEHY Aii
a) 1. He is collecting the necessary material. 2. He has to collect the necessary
material. 3. He has already collected the necessary material. 4. He will collect the
necessary material. b) 1. I was finishing the experiment. 2. | have finished the
experiment. 3. | will finish the experiment. 4 .1 have to finish the experiment.
3. Bubepitb noTpioHMii eKBiBaJIeHT 1JIs1 peYeHHs
Our engineers have improved this new method of work.
l.Hamni iHkeHepu NOJIMIIAITh el HOBHM MeTon poOoTu. 2. Hamni imxenepu
MOJIIMIINIY el HOBUM MeTona poOoTu. 3. Hami iHXkeHepu MOKpallyloTh el HOBUU
MeToa pobotu. 4. Harni iHkKeHepu MOBUHHI MMOKPAITyBaTH 1€ HOBU METOJ] pOOOTH.
By 1972 the total number of automobiles in all countries had exceeded 250,000,000.
1972 poxy 3arajibHa KiJIbKICTh aBTOMOOUTIB Y BCiX KpaiHaX MepeBULLyBaIO
250 000 000. 2. o 1972 poky 3arajibHa KUIBKICTh aBTOMOOLJIEH y BCiX KpaiHax
nepeutia 250 000 000. 3. Jo 1972 poky 3arajgbHa KUIBKICTh aBTOMOOLUTIB y BCIX
Kkpainax maso nepesumutu 250 000 000.
4. BeraBTe noTPiOHUI (popMaTbHUNE MOKA3HUK
1. Our industry has greatly developed ... the time of World War Il. {already, this
year, since, never, ever) 2. | have ... been to England, {today, ever, this morning, for,
never)
5. Bubepith peueHnHs, mia yac nepekJajay sikoro B:kuBaerbcsi popma Perfect
1. CTyneHTH HEpIIKO MUITYTh KOHTPOJbHI. 2. KOKHOTO poKy BOHHU 13715Th 10 AHTIIII.
3. Konu mu mpuikaxaeMo 10 TiTKW, BOHa nede nupir. 4. Bin — anriiens. 5. Bona He

Mae kHur Jxeka Jlongona. 6. Y HuX HOBUM BuMTeb. 7. S morano miasato. 8. Horo
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Bu xouete? 9. SIka my3uka Bam nogobaerbesa? 10. Komu Bu nsraere catu? 11. Yomy
BOHU TyT cTosITh? 12. [le Bu memkaere? 13. Xto neit xmonuuk? 14. CKUIbKH KOLITY€E
s cykas? 15. Ckinbku B Hei moapyr? 16. Ski kamwkku Bu untaere? 17. Bin He mae
aBToMOO11s1. 18. BoHa xoue cratu cmiBaukoro. 19. Buknagau 3anutye Hac, a MU
BianoBigaemo. 20. Bin HaB4ae cecTpy aHriicbkoi MoBH. 21. J[»KOH muIlie BIpaBu y
sommti. 22. [litepy He mogoOaeThesi rydHa mysuka. 23. CTyAeHTH MalOTh YOTHUPU
TOJIMHU aHTJIIMChKOT MOBH Ha JieHb. 24. EHH He 10/100a€ThCs MUCaTH HA JIOIIII].

25. Mepi poOHUTH JOMAIITHE 3aBAAHHS Y IIKOJII.

6. BubepiTh BapianT, BiAnoBiAHNI BUAiJIEHOMY CJI0BY B pe4eHHi

1. Ilo T 3apa3 yuraem? (to read, were reading, are reading, read) 2. Bin npuiiion
B JIaOOpaTopito, KOJIM IH)KEHEepH BimMdyBajau HOBHiA ABUrYyH, (was tested, tested, were
testing, test) 3. OcTaHHIM 4acoM I MUTaHHS NIMPOKO 0OrOBOPIOBAJIOCS B JIITEpaTypi,
a 3apa3 BOHM TOTYIOTb HAyKOBY IMpOrpaMy €KCIHEpPUMEHTAIbHUX JOCIIIKEHb,
(prepare, is prepared, are preparing, is being prepared)

7. IlinOepiTh BiANoBiAHI eKBiBaJIEeHTH

a) SIkuii aiecI0BO BHCIIOBIIIOE BMIHHA? MUst, may, can, to be (to), to be allowed (to),
to have (to) b) sike miecmoBo BHCIOBIIOE MOBHHHICTB?CAN, Must, may, to be allowed
(to), to be (to) c) 3maiigiTs ekBiBameHTH aieciaoBa must: to be able (to), to be allowed
(to), to have (to), to be (to), to be obliged (to) d) 3naiiniTe ekBiBaJEeHTH di€CIOBa
may: to be able (to), to be allowed (t0), to be (to0), to have (to), to be obliged (to)

8. ¥ sikomy BUNAJKY Jai€cjaBo t0 be BHCI0BIIIOE?

1. These experiments are of great importance. 2. These experiments are to help us in
our work. 3. The students are conducting an experiment now.

9.V sikomy BUNAJKY aiecjioBo to have BucioBia0€?

1. We shall have a meeting tomorrow. 2. They have already finished the experiment.
3. This student will have to make a report about his work.

10. 3anoBHITH MNPONYCKM B HACTYIHOMY TeKCTi, BHOpaBIIM CJIOBO i3
3alpONOHOBAHMX BAPiaHTIB

Manufacturing Engineer of the 21st Century
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The ... (human, primary, abstract) role of the manufacturing engineer in the 21st
century is... (to calculate, to observe, to perform) and to integrate

96various manufacturing functions. More and more the manufacturing engineer will
be an operations integrator.

Manufacturing engineers understand product design processes and... {machinery,
physics, steam engines). They ... {provide, invent, assemble) planning of
manufacturing and designing of machinery. They deal with ... {performing,
analyzing, designing) and investigating equipment needs.

Manufacturing engineers must have ... {experience, assistance, information) in work
with individuals at all levels of an organization, from upper-level management to
factory-floor operators of high-technology ... {observation, assembly, specification)
stations.

In short, they work ... {to depend upon, to assemble, to develop) and coordinate the
entire manufacturing process from ... {product, performance, area) design through

after-sales service.
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S IIUTAHHA A0 ICIIUTY

1. Present Simple. YTBopeHHS TenepiliHbOro HEO3HAYCHOTO Yacy. SIKy Jito o3Hayae
el yac? BUHATKH 111 4ac YTBOPEHHS TEMEPIIIHBOTO HEO3HAYEHOTO Yacy.

2. I'pyna Indefinite. YTBopeHHs: MaiilOyTHHOTO HEO3HAYCHOTO Yacy. SIKy dirf0 03Ha4ae
1eu yac?

3. I'pyma Continuous. YTBopenns rpymu Continuous. fky nito o3Hadae 1eil yac?
BuHATKY i 9ac yTBOPEHHS IIOTO Yacy.

4. IMutanpHi Ta 3amepeuHi pedeHHs B Past Continuous. YTBOpPEeHHs TEMEpilIHbOTO
TPUBAJIOro 4acy. SKy Ait0 o3Hayae nei yac? BUHATKM mig 4ac yTBOPEHHS L[bOTO
qacy.

5. I'pyna Perfect. YTBOpeHHs TenepimHbOro 3aBEpUICHOTO 4acy. SIKy jair0 o3Hayae
1el yac? BuHATKY npH yTBOPEHHI LILOTO Yacy.

6. Participle. ITutanpHi Ta 3amepeuni peueHHs B Passive voice. YTBopenns Passive
Voice. fky niro o3Havae ek yac? BUHATKHY ITiJ1 9ac yTBOPSHHS IIHOTO Yacy.

7. Perfect Continuous. YTBopeHHs MaOyTHROTO Yacy. SIKy Jit0 o3Ha4ae 1ieit yac?
BuHATKHM npu yTBOPEHHI [IHOTO Yacy.

8. Constructions: like/would like. VYTBopeHHs MaHOyTHBOTO Yy MUHYJIOMY
3aBEpIICHOTO 4acy. SKy nil0 o3Hayae 1eid 4dac? YTBOpEHHS MaWOyTHBOTO Y
MUHYJIOMY TPUBAJIOTO 4Yacy. YTBOPEHHS MalOyTHHOTO Y MHUHYJIOMY HEO3HAYEHOTO

qacy.
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6 KPUTEPII OLIIHIOBAHHSI 3HAHb CTYJIEHTIB

OO0'ekTHBHE OIIHIOBAaHHS 3HAaHb CTYACHTIB Yy MeXaX KPEAUTHO-MOIYIbHOL
CUCTEMH B YMOBax YMNpOBaJKEHHS 11ed bBoJoHCHKOTO Tpoliecy Mae CIpUSTH
MIIBUIICHHIO  SIKOCTI  IMJATOTOBKM Ta KOHKYPEHTOCIPOMOXHOCTI  (paxiBIIiB,
CTUMYJIIOBAaTH CaMOCTIHHY Ta CHCTEeMAaTH4Hy poOOTy CTYyJEHTa MPOTITOM
HaBYaJIbHOTO ceMmecTpy. Taka O0O'€KTHUBHICTb JOCSTA€TbCS 3alPOBAKEHHAM
BIJIMTOBITHUX KPUTEPIiB OIIHIOBAHHS, TOOTO CHCTEMH BUMOT JIO PiBHS 3HaHb 1 BMiHb
CTYJIEHTa, SIKl BIH MOBUHEH MPOJEMOHCTPYBATU JJIsl MIATBEP/KEHHSI HAOYTUX HUM
kommeTeHIii 3a 100-6anpHo0 mikanorw (100 %).

BignoBigHO 40 KpUTEpiiB OIIHIOBAaHHS 3HAaHb 3a KPEIUTHO-MOIYJIBHOIO
CUCTEMOIO I CTYJEHTIB JIeHHOT ¢opMHu HaBuaHHA Kadeapu ¢iumosorii Ta
BHJIaBHUYOI cripaBu KpeMeHuypbKOro HalllOHaJIBHOTO YHIBEpCUTETY IMEeHI Muxaiina
Octporpancekoro Ha npaktuuHi 3aHATTs (I13) BigBoguThcs 36 OaniB Ha ceMECTp

(36 %), a Ha camocTiiiHy poboTy-15 6ainiB (15 %).

KinbkicTs 6amiB (%) 3a BUKOHAaHHS BCIX 3aB/IaHb OJTHOTO MPAKTUYHOTO 3aHSATTS
B TIOBHOMY 00cCs31 (IPUCYTHICTh HA 3aHSTTI; aKTUBHICTh Ha 3aHSTTI; MIATOTOBKA JI0
MPAKTUYHOTO 3aHATTS) OIIIHIOETHCS 3a TaKow (POPMYIIOI0: KUIBKICTh TOJAMH 32
CEMECTp MOJUIUTH Ha yucio 36.

Ha BUKOHAHHS MOTOYHOTO TEMAaTUYHOTO KOHTPOJIO (T€CTU, KOHTPOJIbHI POOOTH)
BiBoauThCA 20 6aiiB (20 %). Ha BUKOHaHHSI CEMECTPOBOTO KOHTPOJIIO (CEMECTpOBa
KOHTpOJIbHA po0OO0Ta, 3aJIiK, ICIIKUT) BiABOAUTHCS I1ie 20 6aiB.

[TimcymkoBa OIliHKA 3a MPAKTUYHI 3aHATTS BUCTABIISIETHCS IIIOCEMECTPOBO, IMICIIS
3aKIHYEHHS TPOBEICHHS ayIMTOPHUX 3aHATh 3 HaBYAIBHOTO Kypcy. Hakomuyeni min
4yac MPOBEJEHHS PI3HUX BUIIB ayJIUTOPHHUX POOIT OIIHKK HAAAIOTh MPABOMIPHOCTI
TaKkiil ¢popmi arecraliii.

Kpurepii olLiHIOBaHHS MalOTh Ha METI OLIHIOBAaHHS pOOOTH CTYJIEHTIB 3a BCIMa
BHUJIaMHU ayJUTOPHOI Ta CaMOCTIHHOI poOOTH 1 BiOOpakarOTh MOTOYHI HaBYAIbHI

JOCSITHEHHSI CTYACHTIB y 3aCBOEHH1 IPOrPaMHOI0 MaTepiadly HaBYaJbHOI AUCIUILIIH.
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